Séquence de Nombres Linéaires (J)

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
246 271

421
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
346 396 421 496 546
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
591 741 791 941
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
523 533 548 553 558
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
744 769 794 844 894 919 944
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
100 300 400 600 700 900
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
523
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
152 172 182

Différence commune:

Mathslibres.com




Séquence de Nombres Linéaires (J) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
246 271 296

321 346 371 396 421 446 471
Différence commune: 25
I I I I I I I I I I
346 371 396 421 446 471 496 521 546 571
Différence commune: 25
| | | | | | | | | |
| | | | | | | | | |
541 591 641 691 741 791 841 891 941 991
Différence commune: 50
I I I I I I I I I I
523 528 533 538 543 548 553 558 563 568
Différence commune: 5
| | | | | | | | | |
| | | | | | | | | |
719 744 769 794 819 844 869 894 919 944
Différence commune: 25
I I I I I I I I I I
100 200 300 400 500 600 700 800 900 1000
Différence commune: 100
| | | | | | | | | |
| | | | | | | | | |
473 483 493 503 513 523 533 543 553 563
Différence commune: 10
| | | | | | | | | |
| | | | | | | | | |
122 132 142 152 162 172 182 192 202 212
Différence commune: 10
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